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Al T4 ool 2o e}t
H8.0x R35 ES 2,500,000
H8.0x R40 ES 3,000,000
H==LER(CHh) H8.0x R50 ES 3,700,000
H8.0x R0 ES 4,500,000
H8.0x R70 E 5,500,000
H6.0x R35 ES 2,300,000
4es
H7.0xR40 = 3,800,000
H4.5XR25 ES 1,500,000
H5.0x R30 ES 2,500,000
H6.0 x R40 ES 3,500,000
H7.0XR50 E 4,500,000
LE|L}R(TtZh H7.0X R60 ES 5,500,000
H8.0xR70 ES 6,500,000
H8.0x R80 ES 7,500,000
H8.0x R90 ES 8,500,000
404P
H8.0xR100 E 9,500,000
H4.5x R25 ES 2,500,000
Ei=r
H5.0x R30 ES 4,000,000
H6.0x R35 = 3,800,000
H7.0XR40 ES 5,500,000
H7.0x R45 ES 8,000,000
HY &L
H8.0x R50 E 11,000,000
H8.0x R55 ES 13,500,000
H8.0x R60 ES 16,000,000
H4.5XR20 = 1,200,000
H5.0x R25 = 1,800,000
H5.5X R30 E 2,500,000
CHEHRILER(THZE)
H6.0x R35 ES 3,300,000
H6.0x R40 ES 4,000,000
H6.0x R50 ES 4,800,000
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H7.0x R60 ES 6,000,000
H7.0xR70 ES 8,000,000
H7.0xR80 ES 10,000,000
CHeF AL
H8.0x R90 ES 13,000,000
H8.0xR100 E 15,000,000
H8.0x R120 ES 18,000,000
H2.4~H2.7xW2.0xL3.0 (i) S 3.000,000
oot
H2.4~H2.9XW3.0XL3.0 (1) ES 3,500,000
H2.5XW1.5 ES 385,000
HYLIR
H3.0XW2.0 ES 770,000
H4.5x R25 E 1,000,000
=N
H5.0x R30 ES 1,500,000
AZITH AL H4.0x AFZH2.0x2.5) ES 3,000,000
H4.0xR20 ES 1,000,000
H4.5xR25 ES 1,300,000
404P
H4.5XR30 E 1,600,000
AR (T H4.5X R35 ES 2,000,000
H5.0x R40 ES 2,500,000
H5.0x R50 = 3,200,000
H6.0X R60 ES 4,000,000
H7.0xXW2.7 x R30 ES 4,000,000
AEZEIIR(XH) H8.0 X W2.7 x R35 ES 5,000,000
H8.0 X W2.7 X R40 ES 6,000,000
H7.5XR25 ES 1,600,000
S
H8.0x R30 = 2,500,000
H4.5xB20 = 1,000,000
H4.5xB25 E 1,500,000
SHALER(THZH H5.0x B30 ES 2,000,000
H5.0x B35 ES 2,500,000
H5.5%B40 ES 3,000,000
=LA x
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H5.5%B45 = 3,500,000
YHLR(CHh H6.0<B50 z 4,000,000
H6.0xB60 = 6,000,000
H6.0xR35 = 5,500,000
H6.0x R40 = 8,250,000
H7.0XR45 = 10,450,000 404P
HE+
H7.0xR50 = 13,750,000
H7.0xRb5 F 16,500,000
H7.0xR60 = 19,800,000
H2.0xW2.0 ES 935,000
ClYE
H3.0xW2.5 = 1,320,000
= = R
=43 T4 = = o Heh7tA
= 10cm POT = 2,200
HI =2 A|L{Ot 10cm POT = 3,300
HE|Atx 10cm POT =2 1,300
SAtE 10cm POT = 2,200
SEMEALER 10cm POT = 2,200
E=YNES 10cm POT = 2,200
FHHIF 10cm POT = 2,800
Hosta 'Frances Williams' 4~52H 2 11,000
483P
Hosta sieboldiana 'Elegans' 4~52H = 11,000
S3s
Hosta 'Antioch’ 4~5EH = 11,000
Hosta 'Halcyon' 4~5EH = 11,000
Hosta Clausa 4~52H = 6,000
HIH|= Hosta 'Lemon Lime' 4~ A =2 6,000
Hosta 'Chinese Sunrise' 4~52H = 6,000
RE20|EHAM 15cm POT = 9,000
FEAM 56 24 = 7,000
ci7} - 3- e
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T1RZL0|EAA 56 29 = 9,000
HIEEFEAAM 5~6 2 = 7,000
ECPEN 2~3 29 2 4,500
SEHHAM 56 24 = 9,000
CHOHZDH (BIE24Z0) | 10em POT = 4,000
o 10cm POT = 5,500
==
15em POT = 22,000
00| 15cm POT =B Xfith = 6,000
ERSA 15cm POT =B RHtH = 5,000
INES 15cm POT =Xt (Carex paniculata) =2 6,000
Zh 15em POT =Xt = 5,000
g= 15cm POT =& Xt = 5,000
== 15cm POT 4=ZXfth = 5,000
CEEEE 15em POT =Xt 2 5,000
SMZALT 3~ 2Y = 13,500
483P
HiotE =8t 10cm POT =2 3,500
ALY 1= = 3,500
Q0O|Xt 15em POT (L=1.5~2.0m) = 16,500
Cteh 15em POT (L=1.5~2.0m) = 16,500
0j=EH0| 15cm POT (L=3.0m) = 27,500
(Athyrium filix-femina Frezalliae) 12cm POT = 4,000
(Athyrium filix—femina Lady in Red) 12em POT = 4,000
(Athyrium niponicum Metallicum) 12cm POT = 4,000
(Athyrium niponicum Red Beauty) 12em POT = 4,000
(Athyrium otophorum Okanum) 12cm POT = 4,000
AR
(Blechnum spicant) 12em POT = 4,000
(Dryopteris Clintoniana) 12em POT = 4,000
(Gymnocarpium Dryopteris Plumosum) 12em POT = 4,000
(Onoclea sensibilis) 12cm POT =2 4,000
(Osmunda regalis Purpurascens) 12em POT =2 4,000
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15em POT (L=1.5~2.0m) = 16,500
(Trachelospermum jasm. 'Star of Toscane') 12cm POT = 4,000 483P
(Trachelospermum jasminoides white) 12cm POT = 4,000
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